FMI Victorian 42" Direct Vent Millivolt Burner Assembly

MODELS: VC42N, VC42P, VC42NB, VCA2PB, VC42NH, VCA2PH

Part Number Deszription
1 Bumer Pan Assembly
2 Base Grale
3 Firebox Base Bottom
4 | 26808 Valve Bracket
5 | 11107 Screw, #10-32 X 1/4 Zin
6 | Firebox Bottom
1111102 Screw, #8-32 X 3/8 Zinc
6 12137701 | Aluminum Tubing Assembly
9 11128802 |Flex Gas Line
10 ] 108084-02 | Pilot Assembly NG
108084-03 | Pilot Assembly LP
108084-05 | Pilot Assembly (-HA Models)
11 | 14389 Matural Gas Valve
14390 PropanefLP Gas Valve
11737001 | Matural Gas High Altitude Valve
12 | 11165 Screw, #10x 5/8 Zinc
13 | 11191301 | Burner Base Gasket
14 [ 14500 Brass Fitting
15 | 11634501 | Pilot Bracket
16 | 26827 Switch Bracket
17 11226 Flat Washer 7/8" 1D x 2° OD
18 | 11214 Buikhead Fitting with Washer
19 | 14296 Eibow 3/3°
20 | 24874 Bumer Orifice #32 NG
23098 Bumer Orifice #50 LP
21 | 14492 Piezo |gnitor
22 | 14511 Piezo Bracket
PARTS AVAILABLE NOT SHOWN
| 108085-03 | Pilot Orifice #62 (44 Moceis Cniy)




